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/ Unit 2a Study Guide

GSE Algebra |

Name:

What you need to
know and be able to
do

Things to Remember

1. Justify steps using
properties

Associative prop
Commutative prop
Symmetric prop
Add property of =
Subtract prop of =
Division prop of =
Mult prop of =
Distributive prop

2. Solve multi-step
equations and
inequalities

If variables cancel
and. left with false

statement (4 = 6),

then no solution. If
true statement
(4=6) then infinitely
many solutions.
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Problem Problem
14 = 5x—(2x + 4) original problem
14= 5x-2x—-4 Distr butive. Propes N
14= 3x-4 P o raiies, KEY
18= 3x Add PO
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e+l =~y tlox oy
o 1 =T “-t279x +b
— ;x = -b -

-1% > z=3]

d.x-7x-4>10
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3. Solve literall Isolate the variable | a.solve forpif N=Z .on | b. solve for W if
equations & P =2(L+W)
(rearrange Multiply by the Nm = P s 2
formulas) denominator when SN
there is a fraction Al
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Add: combine like | f(x)=x*+3x-§ b. f{x) - gx)
4. Combining terms ,(2_:_—3; -s _m

functions and
function notation

Subftract: distribute
negative

Multiply: add
exponents

Evaluate: substitute
a number for x

9(x)=2¢* —x+2

”%L%4¥ﬂ;7

(x)=3x
a. f(x) + g(x)
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5. Arithmetic
Sequences

Adding or
Subtracting to get
to the next term
fln)=dn+z

On = Ana + d

an=a; +d(n-1)

d.

Write the rule for the
following sequence
and find the S0t term:
3,689, 12,1318
S?lu'-ﬁc. S Expunat
A= 3+ 3(0-1)

A= 3 T30 -3

|a\n - anl

a8 _ualEDY T 18
Agp> BLSP 15D

b.

Write the first 4 term in
the sequence:
Q,=-2n+7=-2C0 i)

al.:s ag= I a._s:'-
-2 i
a1_=3 Ay ) |

c. write an explicit
formula for the table:

X@234
| AN ETY
_v.@.+3‘

A= 2 +3(n-1)
QO =3 +3n~-3

6. Graph linear
functions (lines)

Write equation in
slope intercept
form by solving for

Y
Y=mx+Db

b is y-intercept and
m is slope (rise over
run)

vertical lines:

X = a number and 3x..\d: -
undefined slope " IX = X
horizontal lines: "'-_%}-: SR O
y = a number and H—as
has a slope of zero = 24 5|

graph 3x - YiE 522
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7. solve word
problems

Consecutive
integer-use x, x + 1,
T+ el
Consecutive even
AND odd: use x, x +
2, X+ 4, etc

Perimeter: draw
rectangle and
label sides (let x
equal shortest side)

Average: add all
numbers plus x and
divide by number

you have
Yy +L=130 %:sx-ﬂ-@
LY = L au : /[in;ia,ﬂ
)L - 3 ' Cpsé{; ggl' ant

a. find 3 consecutive(©@dd
integers that add up fo
309. Find the integers.

>< + X423 +3_{i"(

1
C.Ee Ien‘@h of a
rectangle s 3 ore?hon
twids the with)Find
length and width-if the,—,

qerimeter is 48 W= TV

L = [‘]u::
L= 3+IW A«/‘;-Q
3y -+ 309 p=oL towW e
e U8 = (349W) YIOW 4= bw
3% = 303 yg = T o =1
x=10}\ d. Bentley buys pokemon

b. find 4 consecutive

integerspaladg-up-t
1302-3” 39, 33, 8%)
A A

cards for $5 g pack with a

: VISNOR 979 18
service charge of $1.50.
Write an equation o
represent Bentley's

éoending.
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8. describe
characteristics
of linear
functions

=
Domain: all x

values

Range: all y
values

X intercept:
where line
Crosses X axis;
wherey =0

X 4+ ¢
Y intercept:
where line
Crosses y axis;
where x =0

End behavior:

‘&-f

AS X—o0, f(X)
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AS X—-c0,
f(x)—___
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Egn of line: \Jl ='low + >
{Domain:_(= a0, o)

{Ronge: (= 00,00)

JY intercept:__( 0, 2)

(X )igfercepf: (-4,0)

F2l=_ 3B

(If f(x) =5, thenx=_ \»

’ End behavior:

ASx 34+ ( oo

ASXD - G D =00
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